PAP AN. Mén: Co hoc co sé (CUOI KY HQC KY II NAM HOQC 2024-2025)

Cau 1. (2.0 diém) V& so d6 vat thé tu do | 0.50
16 kN 20N Me,, UL =016xX4+20Xx2—-Mz=0 | Mp=104kN 0.50
Wow. Xp T2=0-16-20+Y;=0 Yg =36 kN 0.50
2m B
4mL—1 »X=0=12+X5=0 X =—-12kN 0.50
Céu 2. (1.5 diém) V& so dd vat thé tu do | 0.50
B 6 kN.m
YB 3kN Thanh AB:
1m B _ Xg =20kN |0.50
SOkN ;>_,Xr O, =0 -30%x2+3X5=0
xR ly(
2m Thanh BC: _
A U =03x2+6-3Y3=0 Yp=4kN | 0.50
Cau 3. (1 5 diém)
Ner Yy, =40 kN 0.50
<
Nes 12=0e Ngg =0 Ngg =0 kN 0.50
Nw<—
ok OZ =0 4Ny +3Y, =0 Ngp = =30 kN 0.50
Ciu 4. (1.0 diém) AB: DT — 0
Mg : 4=V < - —
LA s ”agﬂb 6Ncp +6 X 8 =0 Nep=—8kN ) 0.50
Y Ncui GkNl - Ncp 6kN EB: U 0
6 m 2m | 4m : E~= And — _
T My + 4Ny +6x6=0 | Me=—4kNm 1050
Caus. (A5 diéem) S5T=0& N(2) =0 N(z) = 0 kN 0.50
M(2) 5kN.m
e 12=020Q(z)—10-10=0 Q(z) =20 kN 0.50
@) LI =0 M(z) = -20z—15 0.50
z Lm MZ) +10xz+10%x(z+1)+5=0 (kNm) |
Cau 6. (2.5 diem) . .
30 kN 5KkN/m 20 kN.m VE& so d6 vatthé tudo | 0.50
Ll I Y
alo B cly). D|
i = Y, = 50kN | 0.50
.ryA 2m 8m Yo 2m N
Y¢c = 40kN | 0.50
V& Q| 0.50
VEM | 0.50
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